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AFS] R 2 H| 98,469,213 96,396,513 2,072,700 [2I 0 = 0 0 ]
2400 [= 80,200 & 1,992,500 XI 0 = 0]
FEH X S ARSI 2] 98,469,213 96,396,513 2,072,700 [2I 0 = 0 0 ]
2410 [= 80,200 & 1,992,500 Xl 0o & 0]
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200
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AEAIAFS 31,695,000 29,030,000 2,665,000




& (2000) AFSIJH I S(2400) =S U XA AL ON LY & (2410) =84 - XA HIE:(2411) A 8 22| NI KIS : (220) RERIAFS [ME] [ &) ]
ot = ) = 5
oo oo | oo & - | E=
.2 g ME AN =2 of &b o = A 2
401
A&HIZSR 1,500,000 0 1,500,000
CHyl
1,493,000 0 1,493,000|01 Al&H|
oINS EI2otRAYL MUEZ A 1,493,000
7,000 0 7,000|03 Al&=CHYI
oS Et2otRAget MAET=Z I 7,000
403
NAXISHHS 30,195,000 29,030,000 1,165,000
A=01H
30,195,000 29,030,000 1,165,000|01 AXISHMA=2E L
oy 58 TAHEEZZ 4
200,000,000& x 50% 100,000
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o2& 28 TAIHEEZ 4
200,000,000& x 50% 100,000
o2& b HIIY =24 200,000,000& x 50% 100,000
oAdEdE MYUZ L HY 480,000,000 x 50% 240,000
ZAZH(AZ 3-6) TAHEEZZ 4
50,000,000& x 50% = 25,000
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